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√ÿfl‚Êÿ ¬’̋¢œ ó ¬˝Õ◊ ¬òÊ 
( BUSINESS MANAGEMENT — First Paper )  

‚◊ÿ — 3 
1
4  ÉÊá≈U  

¬ÍáÊÊZ∑§ — 60
 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ 

„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ‚¢ÅÿÊ 22 fl 23  ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U – 
  All the questions are compulsory. Question Nos. 22 and 23 have 

internal choices. 
 4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 
  Write the answer to each question in the given answer-book only. 
 5. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 7 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ „Ò¥ U, Á¡Ÿ∑§ ¬˝àÿ∑§ ∑§Ê ©UûÊ⁄U 20 ‡ÊéŒÙ¥ ‚ 

•Áœ∑§ Ÿ „UÙ – 
   Question Nos. 2 to 7 are very short answer type questions. 

Answer to each of the questions should not exceed 20 words. 
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 6. ¬˝‡Ÿ ‚¢ÅÿÊ 8 ‚ 15 Ã∑§ ‹ÉÊÍûÊ⁄UÊà◊∑§ I ¬˝∑§Ê⁄U ∑§ „Ò¥, Á¡Ÿ∑§ ¬à̋ÿ∑§ ∑§Ê ©UûÊ⁄U  
•Êœ ¬Îc∆UU ‚ •Áœ∑§ Ÿ „UÙ – 

   Question Nos. 8 to 15 are short answer I type questions. Answer 
to each of the questions should not exceed half page. 

 7. ¬˝‡Ÿ ‚¢ÅÿÊ 16 ‚ 21 Ã∑§ ‹ÉÊÍûÊ⁄UÊà◊∑§ II ¬˝∑§Ê⁄U ∑  „Ò¥, Á¡Ÿ∑§ ¬˝àÿ∑§ ∑§Ê ©UûÊ⁄U  
∞∑§ ¬Îc∆U ‚ •Áœ∑§ Ÿ „UÙ – 

   Question Nos. 16 to 21 are short answer II type questions. 
Answer to each of the questions should not exceed one page. 

 8. ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ÁŸ’ãœÊà◊∑§ „Ò¥, Á¡Ÿ∑§ ¬˝àÿ∑§ ∑§Ê ©UûÊ⁄U ÃËŸ ¬Îc∆UÙ¥ ‚ 
•Áœ∑§ Ÿ „UÙ – 

   Question Nos. 22 to 24 are essay type. Answer to each of the 
questions should not exceed three pages. 

 9. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ 
‚ÃÃ˜ Á‹π¥ – 

  For questions having more than one part carrying similar marks, 
the answers of those parts are to be written together in 
continuity. 

 10. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U 
Áfl∑§À¬ •, ’, ‚ ∞fl¢ Œ  „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U 
ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —  

  There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 
has four alternatives A, B, C and D. Write the letter of the correct 
alternative in the answer-book at a place by making a table as 
mentioned below : 

 
   ¬̋‡Ÿ ∑̋§◊Ê¢∑§ 

Question No. 
‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U  
Correct letter of 

the Answer 

 

 1.       (i)    
 1.       (ii)   
 1.       (iii)   
 1.       (iv)   
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1. (i) ¬˝’ãœ ∑§Ê ¬˝ÊÕÁ◊∑§ ∞fl¢ •ÊœÊ⁄U÷ÍÃ ∑§Êÿ¸ „Ò  

 (•) ÁŸÿÊ¡Ÿ  (’) ‚◊ãflÿ  

 (‚) ÁŸáÊ¸ÿŸ  (Œ) ÁŸÿãòÊáÊ – 

 Primary and fundamental function of management is  

 (A) planning  (B) co-ordination  

 (C) decision-making  (D) control.  1
2  

 (ii) ÁŸáÊ¸ÿŸ ¬˝Á∑˝§ÿÊ ∑§Ê ÁŸc∑§·¸ „ÒU  

 (•) ¬˝÷Êfl‡ÊÊ‹Ë ÁŸÿãòÊáÊ  (’) ÁŸÿÊ¡Ÿ 

 (‚) ÁŸáÊ¸ÿŸ  (Œ) ÁŸŒ¸‡ÊŸ ∑§Ë ‚»§‹ÃÊ –  

 The outcome of decision-making process is  

 (A) effective control  (B) planning  

 (C) decision  (D) success of direction.  1
2  

 (iii) „U¡¸’ª¸ ∑§ •Ê⁄UÊÇÿ ÉÊ≈U∑§ ◊¥ ‚Áê◊Á‹Ã „ÒU  

 (•) ◊ÊãÿÃÊ  (’) •fl‚⁄U  

 (‚) ¬ŒÊÛÊÁÃ  (Œ) flÃŸ –  

 Herzberg's hygiene factor includes  

 (A) recognition  (B) opportunities  

 (C) advancement (D) salary.  1
2  
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 (iv) ŸÃÎàfl ∑§Ë Áfl‡Ê·ÃÊ „ÒU  

 (•) ŒÍ‚⁄UÊ¥ ∑§Ê „UÊ°∑§ŸÊ   

 (’) ŒÍ‚⁄UÊ¥ ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸÊ  

 (‚) ÁŸŒ¸‡ÊŸ   

 (Œ) ŒÍ‚⁄UÊ¥ ‚ ¬˝÷ÊÁflÃ „UÊŸÊ –  

 Characteristics of leadership is  

 (A) to drive others  

 (B) to influence others 

 (C) direction  

 (D) of getting influenced by others. 1
2  

2. ““¬˝’ãœ ∞∑§ ¬‡ÊÊ „ÒU –”” ∑Ò§‚ ? 

 "Management is a profession." How ?  1 

3.  •À¬∑§Ê‹ËŸ ∞fl¢ ◊äÿ∑§Ê‹ËŸ ÁŸÿÊ¡Ÿ ∑§Ê •ÊœÊ⁄U ÄÿÊ „ÒU ?  

 What is the basis of short-term mid-term and planning ?  1 

4. ‚◊ãflÿ ∑§ “¬˝àÿˇÊ ‚ê¬∑¸§ ∑§ Á‚hÊãÃ” ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

 Explain the 'principle of direct contact' of co-ordination. 1 

5.  ““‚¢ª∆UŸ ∞∑§ ¬˝áÊÊ‹Ë „ÒU –”” S¬c≈U ∑§ËÁ¡∞ –  

 "Organisation is a system." Clarify. 1 

6.  ÁŸÿãòÊáÊ Ã∑§ŸË∑§ ◊¥ “Ÿ ‹Ê÷ Ÿ „UÊÁŸ” Á’ãŒÈ ‚ •Ê¬∑§Ê ÄÿÊ •Ê‡Êÿ „ÒU ? U 

 What do you mean by 'no profit no loss' point in control technique ?  1 
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7.  ¬˝flÎÁûÊ ∑§ •ÊœÊ⁄U ¬⁄U •ÊÒ¬øÊÁ⁄U∑§ ∞fl¢ •ŸÊÒ¬øÊÁ⁄U∑§ ‚¢ª∆UŸ ◊¥ •ãÃ⁄U ’ÃÊß∞ –  

 Mention the difference between formal and informal organisation on 

the basis of tendency.  1 

8. ¬˝’ãœ∑§Ëÿ ∑§‹Ê ∑§Ë Á∑§ã„UË¥ øÊ⁄U Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Describe any four characteristics of managerial art.  2 

9.  ÁŸÿÈÁÄÃÿÊ¥ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§ ø⁄UáÊÊ¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

 Explain the steps of staffing process.  2 

10.  •Áœ∑§Ê⁄U ¬˝àÿÊÿÊ¡Ÿ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§ ¬˝Õ◊ øÊ⁄U ø⁄UáÊÊ¥ ∑§Ê ‚¢ˇÊ¬ ◊¥ S¬c≈U ∑§ËÁ¡∞ –  

 Explain in brief, the first four steps of the procedure of delegation of 

authority. 2 

11. ÷ÃË¸ ∑§ Á∑§ã„UË¥ ŒÊ •ÊãÃÁ⁄U∑§ dÊ¥ÃÊ¥ ∑§Ê ‚¢ˇÊ¬ ◊¥ ‚◊¤ÊÊß∞ –  

 Explain in brief, any two internal sources of recruitment.  2  

12. ““¡Ê ¬˝’ãœ ∑§⁄U ‚∑§ÃÊ „ÒU, fl„U Á∑§‚Ë ∑§Ê ÷Ë ¬˝’ãœ ∑§⁄U ‚∑§ÃÊ „ÒU –”” Á∑§ã„UË¥ øÊ⁄U Á’ãŒÈ•Ê¥ 

mÊ⁄UÊ S¬c≈U ∑§ËÁ¡∞ –  

 "He who can manage, can manage anything." Clarify by mentioning 

any four points.  2 

13. ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ÁŸÿÈÁÄÃÿÊ¥ ∑§ ◊„Uàfl ∑§Ê S¬c≈U ∑§ËÁ¡∞ —  

 (i) ‚¢SÕÊ ∑§Ê ¬˝÷ÊflË ¬˝’ãœ  

 (ii) •ÊÒlÊÁª∑§ ‡ÊÊÁãÃ –  

 Explain the importance of staffing on the basis of following points :  

 (i) Effective management of the enterprise 

 (ii) Industrial peace. 2 
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14. ¬˝Á‡ÊˇÊáÊ ∞fl¢ Áfl∑§Ê‚ ∑§Ë •Êfl‡ÿ∑§ÃÊ•Ê¥ ‚ ‚ê’ÁãœÃ Á∑§ã„UË¥ øÊ⁄U Á’ãŒÈ•Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ – 

 Explain any four points regarding necessity of training and 

development.  2 

15.  ŸÃÎàfl ∑§Ê ¬ÊÁ⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –  

 Define leadership. 2 

16. ¬˝Ê0 ÁÕÿÊ „ÒU◊Ÿ ∑§ •ŸÈ‚Ê⁄U, ¬˝’ãœ ∑§Ê Á∑§ÃŸ •ÕÊZ ◊¥ ‚◊¤ÊÊ ¡Ê ‚∑§ÃÊ „ÒU ? ¬à̋ÿ∑§ ∑§Ê fláÊ¸Ÿ 
∑§ËÁ¡∞ –  

 According to Prof. Theo Haimann, management can be understood in 

how many meanings ? Describe each.  3 

17.  •Ê¬ ‚¢ª∆UŸ ∑§Ê ‚¢ôÊÊ fl Á∑˝§ÿÊ ∑§ M§¬ ◊¥ ∑Ò§‚ ¬ÊÁ⁄U÷ÊÁ·Ã ∑§⁄¥Uª ?  

 How will you define the organisation as a noun and as a verb ?  3 

18.  ⁄UπÊ fl ∑§◊¸øÊ⁄UË ‚¢ª∆UŸ ∑§Ê øÊ≈¸U mÊ⁄UÊ ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ –  

 Show the line and staff organisation with the help of a chart.  3 

19.  ÁŸÿãòÊáÊ ¬˝Á∑˝§ÿÊ ◊¥ Áflø‹ŸÊ¥ ∑§Ê ŒÍ⁄U ∑§⁄UŸ ∑§ Á∑§ã„UË¥ ÃËŸ ‚ÈœÊ⁄UÊà◊∑§ ©U¬ÊÿÊ¥ ∑§Ê ©UÀ‹π 
∑§ËÁ¡∞ –  

 Mention any three corrective measures to eliminate deviations in 

control process.  3 

20.  ‚◊ãflÿ ∑§Ë Á∑§ã„UË¥ ¿U— Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê ’ÃÊß∞ –  

 Mention any six characteristics of co-ordination.  3 

21.  ◊ÊS‹Ê ∑§Ë “•Êfl‡ÿ∑§ÃÊ ∑˝§◊’hÃÊ ÁfløÊ⁄UœÊ⁄UÊ” ∑§Ê øÊ≈¸U ∑§ ◊Êäÿ◊ ‚ ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ –  

 Show the Maslow's 'Need Hierarchy theory' with the help of a chart.  3 
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22.  •Á÷¬˝⁄UáÊ ∑§ ◊„Uûfl ∑§ Á∑§ã„UË¥ ¿U— Á’ãŒÈ•Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

•ÕflÊ  

 ÁŸÿãòÊáÊ ∑§ ◊„Uûfl ∑§ Á∑§ã„UË¥ ¿U— Á’ãŒÈ•Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

 Explain any six points of importance of motivation.  6 

OR 

 Explain any six points of importance of control.  6 

23.  “•Áœ∑§Ê⁄UÊ¥ ∑§ ¬à̋ÿÊÿÊ¡Ÿ” ∞fl¢ “Áfl∑§ãº˝Ë∑§⁄UáÊ” ◊¥ •ãÃ⁄U S¬c≈U ∑§ËÁ¡∞ –  

•ÕflÊ  

 ∞∑§ ‚ÈŒÎ…∏U ‚¢ª∆UŸ ∑§Ë Á∑§ã„UË¥ •Ê∆U ¬ÍflÊ¸¬ˇÊÊ•Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

 Explain the difference between 'Decentralization' and 'Delegation of 

authority.'  6 

OR 

 Explain any eight prerequisites of a sound organisation.  6 

24. •Ê¬ ∞∑§ ’Î„UŒ˜ •ÊÒlÊÁª∑§ ‚¢ª∆UŸ ◊¥ ¬˝’ãœ∑§ ∑§ M§¬ ◊¥ ∑§Êÿ̧⁄UÃ „Ò¥U – ¬˝÷ÊflË ÁŸÿÊ¡Ÿ ∑§ Á‹∞ 

•Ê¬ Á∑§‚ ÁŸÿÊ¡Ÿ ¬˝Á∑˝§ÿÊ ∑§Ê •ŸÈ‚⁄UáÊ ∑§⁄¥Uª ? ‚◊¤ÊÊß∞ –  

 You are working as manager in a large scale industrial organisation. 

What will you planning process follow to ensure effective planning ? 

Explain.  6 

    


